Statistics Quiz 18 Review

Lessons 55-58 {H B Review (all proportions)
~ Aresearcher wonders if elderly people postpone dying to experience From pa{é‘*ﬁ 522-523
another holiday. Data are collected showing that 10,000 total deaths : R‘sy;a
occurred during week before and the week after a chosen holiday. R&.4
4958 of the deaths occurred during the week before the holiday. R8.6
Construct a 90% confidence interval R8.7
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Consider the table showing the distribution of colors in a bag of skittles:

Red 29
Purple 15
Yellow 19
Orange 20
Green 22

The manufacturer claims the proportion of red candies is 0.20. Conduct a hypothesis test of the
manufacturer's claim.



Find the sample size n needed to estimate the percentage of adults who have consulted fortune tellers.
Use a .02 margin of error and a confidence level of 98%.

- How would the previous value change if it is known that a previous poll found that 20% of adulte have
consulted fortune tellers? :

In 1997, a survey of 860 households showed that 144 of them use e-mail. Use those results to test the
claim that more than 15% of households use e-mail. Use a 0.05 significance level to perform a hypothesis

fest.

Would your conclusion still be accurate today? Explain.

When testing gas pumps for accuracy, fuel-quality enforcement specialists tested pumps and found that
1336 of them were not pumping accurately (within 3.3 oz when 5 gal is pumped), and 5653 pumps were
accurate. Use a 0.01 significance level to test the claim of an industry representative that less than 20%
of the pumps are inaccurate.



In a survey funded by Burroughs-Welcome, 750 of 1000 adult Awnericans said
they didn’t believe they could come down with a sexually transmitted discase
(STD). Construct a 95% confidence interval estimate of the proportion of
adult Americans who don’t believe they can contract an STD.

(&) (728, 772)
(®) (723, .777)
(C) (718, .782)
(D) (713, .787)
() (.G65, .835)

Tn a recent Zogby International sutvey, 11% of 10,000 Americans under 50
said they would be willing to implant a device in their brain to be connected
to the Internet if it could be done safely. What is the margin of error at the 99%
confidence level?
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A researcher wonders if elderly people postpone dying to experience
another holiday. Data are collected showing that 10,000 total deaths
occurred during week before and the week after a chosen holiday.
4958 of the deaths occurred during the week before the holiday.
Construct a 90% confidence interval
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Based on the result, does it appear that the elderly t¢mporarily postpone
dying near a holiday? i
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Consider the table showing the distribution of colors in a bag of skittles:
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Find the sample size n needed to estimate the percentage of adults who have consulted fortune tellers.
Use a .02 margin of error and a confidence level of 98%. ,0 @
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In 1997, a Survey of 860 households showed that 144 of them use e-mail. Use those results to test the
claim that more than 15% of households use e-mail. Use a 0.05 significance level to perform a hypothesis

test. _ A= 19y .
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Would your conclusion still be accurate today? Explain.
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When testing gas pumps for accuracy, fuel-quality enforcement specialists tested pumps and found that
1336 of them were not pumping accurately (within 3.3 oz when 5 gal is pumped), and 5653 pumps were
accurate. Use a 0.01 significance level to test the claim of an industry representative that less than 20%

of the pumps are inaccurate.
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In a survey funded by Burroughs-Welcome, 750 of 1000 adult Awericans said
they didn’t believe they could come down with a sexually transmitred disease
(STD). Construct a 95% confidence interval estimate of the proportion of

»dult Americans who don't believe they can contract an STD.
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(BY (723, .777)
(©) (.718,.782)
(D) (.713, .787)
(B) (.665,.835)

In a recent Zogby International sutvey, 11% of 10,000 Americans under 50
said they would be willing to implant a device in their brain to be connected
to the Internet if it could be done safely. What is the margin of error at the 99%

confidence level? ) ,
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